B XX

X

I=Rial_

ax

T

I iy

T

nA
o

bl

AR 35 - 1 5 S E R

I=Rial_
-

X (&R

-

TN

me X 35t - £ 20 S E 4 A

L

=

==
%

J\((
1:25,000

3}
===

i

T TS T L

}

fEHE125, 000 (H[4 H )
)

DI

T, [FbesTT
o V231, FH166

=
[0,
=
[0,

[ e R DK &
LOTHD, CKRHE

l

DOHIXIF
HRIL 7=

&

157.9
1.0
19.9
3.9

(kN/m2)

=X{E

A (m)
&5 DEZKIE (KN/m2)
DK (m)

EHHD
=

()

~
~

—

=
=1

=
=1

%
Bl

HiE

%8

X

ARIR
4
5 iz BT #h

R
A

i)

~
~

RR

& th D
~2208

Xr|
[=]

{

0’

=
IR

—re

R
SAImMUTOBE, LEED

£BHHM100N/MEFBZ 5 X
SHmEZ DX

=]
=1
=
=1

Hh

IEHO BE)
Bl

TEFEOHED
ThUS DR

Mg

*

o=

Mg

o=

=

BRARRDIER

THKE
THKE

FiT

(el




